7+ 1= 3-1= 9+9=
5+5= 2+7 = M-4=
9-6= 5-4= 7+6=
5+4= 8+4= 12-3=
2-1= 8-7= 7+7 =
2+1= 10-5= 13-1=
5-1= 8+3= 8-2-1=
3+7 = 4-0= 1+3=
5-2a= 6-4= 9+6 = 2+4-3=
8+8= 2+8+3= 3-1-1= 6+4+5=
7-7= 9-2-3= 4+9+1= 5+3-1=



Keg learn'mg: to answer addition and subtraction equations.

subtract without crossing tens

d subtract crossing tens
1 suitable method/the most efficient method to s
y answer

‘tens and ones, counting on

addition subtraction  equation

tens
part whole




W me an subtraction si




n addition or a subtraction equatic

...... equation becau:




n addition or a subtraction equatic

...... equation becau:




in addition or a subtraction




in addition or a subtraction




DO NOT STICK THIS INIl!

(e

Choose an efficient strategy to solve them!

12+7= 154+ 14=
19-3= 344 15=
24_3= 334 13=

11+ 18=

k23+5=

opy the equations into your book and solve.

45-15=
52427 =
61+33=
314+ 14=

et

(" ‘ Challenge yourself!

i
&=

del

M+3+4= 22+ 12+ 3= 29-24-3=
23+ 442= 37-11-5= 46 -14+23=
pet o
(= _
2.2 What methods could I use to solve this?
| e e e







Annie has 12 marbles.
Ron has 13 marbles more than Annie.

How many marbles do they have
altogether?

Find the total of each row and column

Use <> and = to complete the number sentence.

Work the answers out in your book.

M+3+4

23+14-1

29-14-3

39-24+ 12

Mrs Granger has 16 marbles, she loses 14 of her
marbles in the moming then loses 2 more marbles. How

many marbles does she have left at the end of the day?




